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Assignment

Please attatch all work to this assignment. The assignment is due on Tuesday December 7.

For all question circle the letter next to the derivative of f.

1. f(x) = (> +2)?4+x2+x)(3x+5) -
'(x) = 12x* +22x+ 10

b. f/(x) = 21x® + 22x + 10
) = 122 +57x* +20

d. f'(x) =21x> + 16x+ 16

2. F(x) = (F — 10x+5) (x _;5?)

25
a. f'(x) = 5x* 4+ 3002 — =

x2
b. f/(x) = (3x* — 10)(2x+ 5x2)

25
c. f'(x) = 5x* —30x° —|——

5
d. f'(x) = = 30x% —25x 2

3x+1)3
3. f(x)zﬁ
;o 81x*+54x49
a0 = G2y
, 9(3x+1)2
b.f<x)=ﬁ
, 27(3x+1)?
C-f(x)Zﬁ
X 3
d. f’(x)zw

(3x+2)3



(52 +4)(21)
G

4. f(1) =

10£3 + 8¢
a. f'(t) = PR

10t> +4
b. f/(f)zm

0/3 3 40.10/3 4/3
(3071073 4 8¢7/3) — (29,10/3 1 1614/3)

e f) =

3 l4
, 501 — 8
d. f(z) = ﬁ
2+5
> 0= \/Xxj +xl
2 5 4 1 1/2_2 37,2 5
&fmz(“”@i;H)x@+n
g (2x+5) (x4 1) — (22 +5x)4x°)
b fx)= 206+ DI2(x* 4 1)
, 2(2x45)(x* 4 1) — 4x3 (2 + 5x)
¢ fix)= 2(x* 4 1)3/4
54 2x+5

d- 1) = 441

x+3)*

6. f(x) = W

, 4(X+3)3(X2—|—5)1/2 _ [(x+3)4 ) (x2+25)l/2 . (ZX)]
a. f'(x) = .

/ x+3)3(3x% —3x+20
b. f(x) = ¢ )(x<2+5)3/2 )

, (x+3)3(3x+10)(x +2)
c. f(x)= (21522 +5)
o - 43P @2+ 52— [ 3)* - gl (29)

(x2+5)1/2



(B3x* +4x> —7)°

7 f0 = a6 eop

(x* 4+ 662 — 6x)8 - 5(3x* +4x> —7)* - (1263 +1202) — (Bt +4x3 = 7)% - 8(x* 4+ 652 — 6x)7 - (4x> 4 12x — 6)

a. f,(x) = (x4 +6x2 f6x)16
b, £/(x) = (4652 — 6)8 — 5(3x + 43 —T)*- (1263 + 1262) — (3 + 423 —7)° — 8(x* + 622 — 6x)7 - (4% + 124 —6)
(x* + 6x2 — 6x)16
e fl(x) = (3 423 —7)5 - 8(x* + 632 — 61)7 - (423 + 12x — 6) — (x* + 62 — 6x)8 - 5(3x* + 423 — 7)* - (1223 + 1242)
(¥ +6x2 —6x)16
d, 7o) = & 62 69753 440 — 7)1t (120 4126 - (308 +40° —7)° -8 +62° —6)7- (40 +120—6)
(x* + 6x2 — 6x)04
5x2 _ 7'C3
8. f(x) N
a. f’(x) _ % B (5x2 _ 753)(6)62)
2x3 (4x3)3/2

C10x (5xr—7d)(6x?)
T2 2028)3)2
/ 5x% + 373
¢ )= Simsm

g 56 (52— 1) (68)
¢ 10 =5 ""3a

b. f'(x)

o (VIO xTE
. =—ara
32x* +16
/ —_

a. f (x) - (5x2—|—4x+ 8)]/2()62—{—4)2
b f/( )_ (1OX—|—4)(x2_|_4)_4x(5x2+4x+8)
A 2(5x2 4 4x+8)1/2

' T 2(5x2 +4x+8)1/2(x2 + 4)2
a. f() = (107 126 4 8x 4 16)(x” 1-4)’

2(5x2 +4x +8)1/2



10. f(x) = p
a. f/(x) =4x? -2
b. f'(x) = 2x°
c. fl(x) =4x2
d. f'(x) =4x
~ (5x—1)(2x%) — (4x* —6)

11. f(x) = GrI?

sy 1087 4306 — 12x— 12
a. fix) = (x+1)*

o 2(x4 1) —10x° +36x7 — 12x— 6
b. f(x) = (x+1)*

sy —10x° +36x2 — 12x— 4
¢ fix) = |

sy 1007 4306 — 12x— 12
d. fix) = (x+1)3

~7)(x+3)]°
12. f(x) = [%}
4502
a f'(x) =5 {(x—7))ch+3)1 ‘ —2xx4+ 8x
4 4
b. f/(x) = 10x(x+3) ();1—27) (2x+21)
d (. 5

22 4 8x 1% 4x5 — 24y
d. f'(x)=5 [ a }

x3



13. f(x)

a. f'(x)

b. f'(x) =

¢ f'(x) =

d. f'(x) =

14. f(x) =

d. f'(x) =

1
= 6x% —8x% — ~

X

203 — 16x° + 1
x2
—4x3 — 1
x2
43 + 1
x2
—4x+1
xz

(x+35)(x—2)
(x> —1)
—3(x>—6x+1)
¥ 22+1
9x —22x-3
(x> —1)?
—3(x>—6x+1)
-1
9x? —22x—3
-1




